—A =9

z’\ 7|
/ " 1 A

4

e l
. = -

GreatER Bar™

Owners Manual

1/31/2022

al

ation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnova

GreatER Bar ' Owners Manu

Page

KAGE® Innov


https://manuals.plus/m/839f16ed62d477a051f84482e1f782f2d28da8d57e2d26ca40b155bed7e8b065

Iaaeds
ansed auyy Bumo wal A 727 L-L paseslaul aq ued ydap yioo] BOUEBIER|D 100P 192)E PIYS S]0N—
—_—
Qi §|mw_|n
L —— i = .ﬁ
o o Qi L
ﬂv v o =]
(®)

yul| doy ag jo yhua) ayjeonpal o} paad A2 w sauiyoe woasgybn

‘Yea) ayl ajeaoe o} painbal ainssald sy asealoul

I i Jeaamoy 2Bue plemumop S5 YU U2 wiodap Wpaa) mo)| e |[m
ajoy Jq Jamo|ayi o Bulao w o Bupaybua] e = yudoydop yibua) ynejag

zuilfaga|bue Guunow Ul Ieam a10@q sapeq airgday
‘asn yoea alojag abeyoo|q Jo0) payoaays AEnsiaeg pnoys saqny Guudg

1/31/2022

GreatER Bar '™ Owners Manual
KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com

Page 2



WEIGHT LBS 932

Cagrmighl Slege nnowetine Al Highin Basanmd W B sgEenevalnn com (B S aanE

GreatER Bar with Teeth 72

Page 3 GreatER Bar' Owners Manual 1/31/2022
KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com



Item |Part Name Part Number Quantity |Alibre Part Revision

1 Teeth Bar Weldment 72 G1200 1 1

2 Spring Top L SPS00 1 BLANK

3 Hex Balt GR8 3/4-10x 3.5 91257A849 4 BLANK

4 Flange Locknut 5/8-11 3221357 24 BLANK

5 Hex Balt GRS 3/4-10x 6.5 91247A860 4 BLANK

6 Star Latch Lever Weldment 72 G1400 1 1

7 Bushing .75 x .5 98042A718 1 BLANK

8 Top Link CAT | 103161 2 BLANK

9 Bar Spacer G1108 2 2

10 | Star Gear G1103 1 4

11 1-8 Thin Hex Nylock Nut Grd 91342A260 2 BLANK

12 Hex Bolt Gr8 1-8 x 3.25 92620A959 2 1

13 | Tooth Cap G1300 8 1

14 Hex Bolt GR8 3/4-10 x 5.5 91257A857 1 BLANK

15 | SAE Flat Washer 1 x 2 90126A038 2 BLANK

16 | Guide Plate Weldment G1150 1 1

18 Flat Washer 5/ 8 90126A035 1 BLANK

19 | 3/4" Flat Washer 90108A036 5 BLANK

20 | Gear Plate Weldment G1550 1 1

21 Base Weldment 72 G1500 1 1

22 Hex Bolt Gr5 3/4-10 x 2.5 928B65A845 3 BLANK

23 | Grader Cutting Edge 72 GCE72 3 1

24 Hex Bolt GR5 5/8-11x 25 91247A804 1 BLANK

25 | CenterLocknut GR2 3/4-10 90040A147-K5 12 BLANK

26 | Gear Plate Bushing G1551 4 2

27 Hex Bolt GR8 3/4-10 x 4" 91257A851 1 BLANK

29 | Gear Bushing G1256 1 2

30 Roll Pin 1 x1-1/2 95755A641

31 Rotation Block G1106 4 3

32 Plow Bolt 5/8-11 x 3-1/2 90934A808 24 BLANK

33 1.75 Shaft Collar 3370K39 BLANK

34 Ring Shim 0.0250 3/4 ID 98090A380 1

36 | Spring Bottom 2013 SP-160 1 BLANK

37 Hex Bolt GR8 3/4-10 x 3.25" 91257A848 1 BLANK

38 | Spring (old style) SP14 1 BLANK
Page 4 GreatER Bar' Owners Manual 1/31/2022

KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com



PPPPP

GreatER Bar with Teeth 84

GBT84

Versiond 2

Version Starting Serial #

WEIGHT LES 1066

Copyrighl Kags Innoesdion A1 Bighis. e e LagmInrovabon coe [ 118-KAGE

1/3

e | www.kageinnovation.com

1/2022



ltem [Part Name Part Number Quantity |Alibre Part Revision
1 Spring Top L SP900 1 BLANK
2 Flange Locknut 5/ 8-11 3221357 24 BLANK
3 Hex Bolt GRS 3/4-10 x 6.5 91247A860 4 BLANK
4 Teeth Bar Weldment 84 G1275 1 1

5 Star Latch Lever Weldment 84 G1450 1 1

B Top Link CAT | 103161 2 BLANK
7 Bar Spacer G1108 2 2

8 Star Gear G1103 1 4

g9 1-8 Thin Hex Nylock Nut Grs 91342A260 2 BLANK
10 |Hex Bolt Gr& 1-8 x 3.25 92620A959 2 1

11 Tooth Cap G1300 8 1

12 | Grader Cutting Edge 84 GCEB4 3 1

13 |Hex Bolt GR8 3/4-10x5.5 91257A857 1 BLANK
14 | SAE Flat Washer 1x 2 90126A038 2 BLANK
15 | Spring Bottom2013 SP-160 1 BLANK
16 | Flat Washer 5/8 90126A035 1 BLANK
17 | 3/4" Rat Washer 90108A036 4 BLANK
18 Hex Bolt Grb 3/4-10 x 2.5 92B65A845 3 BLANK
19 |HexBol GRE5/811x25 91247A804 1 BLANK
20 | CenterLocknut GR2 3/4-10 90040A147-K5 12 BLANK
21 Gear Plate Bushing G1551 4 2

22 |Hex Bolt GRE 3/4-10 x 4" 91257AB51 1 BLANK
23 | Spring (old style) SP14 1 BLANK
24 | Gear Bushing G1256 1 2

25 Roll Pin 1x1-1/2 95755A641 8 1

26 | Rotation Block G1106 4 3

27 |Base Weldment 84 G1600 1 1

28 |HexBolt GRE 3/4-10x3.5 91257A849 4 BLANK
29 | Guide Plate Weldment G1150 1 1

30 | Gear Piate Weldment G1550 1 1

31 Plow Bolt 5/ 8-11 x 3-1/2 S0934A808 24 BLANK
32 1.75 Shaft Collar 3370K39 2 BLANK
33 |Ring Shim0.0250 3/4 1D 98090A380 1

35 |HexBolt GRE 3/4-10 x 3.25" 91257AB4E 1 BLANK

Page 6 GreatER Bar '™ Owners Manual

KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com

1/31/2022



00 859591 L HDIIM

ASvHP LE (ke 21 WO UG RADLL B0 e PSSR HS UBIY 1w uon Rac ] &0y Y Bpidos
HNY1E 0z BOEYPTEGOR| 2/ EX LL-8/5 108 mojd T
b E Ze3a0o| g sfp3 Bumnoiapeig £
L L 00 LS ZLIUBWp S BEE] z
HNY1E ar LGEIETE LL-g/g nuyoo abuey L
uoisiaey We4 21qiy] A eny laquinpy Hed SWER HE-H Em_i

#leuag BULElS UDISIaN
guUOISIN

€199

¢/ 1ed Hdjealp

1/31/2022

GreatER Bar '™ Owners Manual
KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com

Page 7



WEIGHT LEST09.24

w
a
o
k3
c -
8 -
= 5
& id
[} =
= )
£ i
o z|k
o ] E
= o e
{ :
sl
£ i
3 L = |3
= =
F
x
I @
E | CH
; ™ ; 2| = &
P I T = O
= I T = -
E|lm|o|lo|a|&
"
E
= = ~|3] |27
m L % A =
‘= =t
E o = ol i -
(4] - o [=} — =
(Wl E|lEle|T |k
z ElE|E =B
= w|B|3|=|%]|E
or = El2|Y]|al|l=]%
= alals|Z|8|8
E I o E =3 E ﬂ E =
m T E C = o F=: IE o =
00 5 8 glelo ElB
18] o wom B
== =D E o
LH]
QO == g|ela]lal=~
Page 8 GreatER Bar' Owners Manual 1/31/2022

KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com



Page 9

Kupe Limiled Wurrunly

Kige Inmuvation will cepanr v ol the vplion of Kage DIoovatgon, ceplace those piats
which prave detective dus o matzrial orwarkmanzhip under normal nse for a period of
o ©2) veans firom Lhe dule of retail sule or dute of inveice from Rage Innovation,
whichever iz laler. Lapendalls tems, such as rubber. or polvurethane are oxcluded from
Lhus sviurimdy.

Kage lanowation warrants thas the prodners manfachired by uz to be in acoordances with
our published specilications or Lthoss specilicalions agreed o by us in wrling al Lhe time
ul sile. The obligatiow of Kige Dmovativw is expressly hrted 1o repining o veplacine.
il uptony oy pooduet 301 meetine such speeiicidiuns withio the wantiady pecixd.

TIWTTATTONS OF WARTRANTY AND DAMAGES

RAGE INNOYAUTON MARKES NCO COTILLE WARRANTY, EXPRLSSLD DR
IMPLIED. ANDr MAKES NO WARRANTY OI MERCILANTARILITY OR OF
FITNESS FOR ANY PARTICUT.AR PUIRPOSE. THERE ARE NO WARRANITTES
WHICH EXTEND REYOND THE FACE HERFOFR.

INNO EVENT SIIALL ILAWGE INXNOVATION, BE IICLD LIARLL FOR SPECLAL.
INCIDEXTAL OR CONSEQULENTLAL DAMAGES OR TOR DAMAGLS
RESUTTING FROM NVASAPPLICATION. ARLUSE, MISUSKE, ACTES OF GOID.
L NALTTTIORLALD ALTERATION OF UHE KAGE INNOYVAUION PRODLCT, OR
SURSTITUTION OF MARTS NOT AUTIRMRIZED IN WRITING BY KEAGL
INNOVATION.

Uiy sblain gervice under this searmanty the consumer must relum the deteclive Kape
Jrmsrvation preduct o Rage navalion directly, the dealer roem swhich the prosduct was
puridiised ur Lo any gutborieed Kage Tumesvatvon Jealer, oimspoatation and leeight chanses
prepaid. Only Kage Innnvation dzalars are awwhnarized tn paitorm the ahligatinng nnder
this warranty with pre-authorizatinn from Kage Innowarion.

Nu pesui 15 autlaized Tu dlter or ameud tlos swinasly o Ly vreste oy winrdy uiher
Lhiam that w1 Lunth hereim withuwt the expressed wiitten consent vl Kige Iunosvation

huge mesatinn reseryss the right e maks improvement changes on any o Hur products
wilhoul prior nalive.

GreatER Bar'= Owners Manual

KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com

1/31/2022



Date Name Description

5/25/2025 Josh Updated GBT72 barts breakdown for better clari-
ty, pages 3,5

Page 10 GreatER Bar' Owners Manual 1/31/2022
KAGE® Innovation LLC 502 Simmon Drive Osceola, WI 54020 | (844) 314 - Kage | www.kageinnovation.com



